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WHOLE NUMBERS

All Questions

1. Write down the smallest natural number.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_sfhq7xzQC9RC

2. Write down the smallest whole number.

o Watch Video Solution

3. Write down, if possible, the largest natural

number.

o Watch Video Solution



https://dl.doubtnut.com/l/_sfhq7xzQC9RC
https://dl.doubtnut.com/l/_E1TNUI1MRDKR
https://dl.doubtnut.com/l/_anYPejlL1E1p

4. Write down, if possible, the largest whole

number.

o Watch Video Solution

5. Are all natural numbers also whole

numbers?

o Watch Video Solution



https://dl.doubtnut.com/l/_FCtxg91jpjc4
https://dl.doubtnut.com/l/_seEBTMyxSnTT

6. Are all whole numbers also natural

numbers?

o Watch Video Solution

7. Give successor of each of the following
whole numbers: 1000909 (i) 2340900

(i) 7039999

o Watch Video Solution



https://dl.doubtnut.com/l/_1Rn6F5u9Qq14
https://dl.doubtnut.com/l/_GLzbrqr2Lzr4

8. Write down the predecessor of each of the
following whole numbers: 10000 (i1)

807000 (i) 7005000

o Watch Video Solution

9. Represent the following numbers on the

number line: 2,0, 3,5, 7,11, 15

° Watch Video Solution



https://dl.doubtnut.com/l/_x8Mj4OqbOmcG
https://dl.doubtnut.com/l/_Ih2UlBpoFCqn

10. How many whole numbers are there

between 21 and 61?7

o Watch Video Solution

11. Fill in the blanks with appropriate symbol <
or >:25..205 (i) 170 .. 107 (iii)

415 ... 514

o Watch Video Solution



https://dl.doubtnut.com/l/_UcOFggMIpjt5
https://dl.doubtnut.com/l/_Dn3Lr8wspPHN

12. Fill in the blanks with appropriate symbol <
or > : 10001 ... 100001 (i) 2300014 ..

2300041

o Watch Video Solution

13. Arrange the following numbers in
descending order: 925, 786, 1100, 141, 325, 886,

0, 270

o Watch Video Solution



https://dl.doubtnut.com/l/_nRkBw7gJgy9s
https://dl.doubtnut.com/l/_LGjAcsUFB7ww
https://dl.doubtnut.com/l/_k8ucE37hnV3m

14. Write the largest number of 6 digits and
the smallest number of 7 digits. Which one of

these two is larger and by how much?

o Watch Video Solution

15. Write down three consecutive whole

numbers just preceding 8510001.

° Watch Video Solution



https://dl.doubtnut.com/l/_k8ucE37hnV3m
https://dl.doubtnut.com/l/_A0VD9UoJL7Gi

16. Write down the next three consecutive

whole numbers starting from 4009998

° Watch Video Solution

17. Give arguments in support of the
statement that there does not exist the

largest natural number.

° Watch Video Solution



https://dl.doubtnut.com/l/_w3OKmWvFc1s1
https://dl.doubtnut.com/l/_3RgDWWFjS1r8

18. The smallest natural number is (a) 0 (b) 1

(c) —1 (d) None of these

o Watch Video Solution

19. The smallest whole numberis 0 (b) 1(c) —1

(d) None of these

o Watch Video Solution



https://dl.doubtnut.com/l/_gWbIroZ0eP6T
https://dl.doubtnut.com/l/_mv8GqIa2IXno

20.The predecessor of 1in natural number is O

(b) 2 (c) —1 (d) None of these

o Watch Video Solution

21. The predecessor of 1 in whole number is O

(b) —1 (c) 2 (d) None of these

o Watch Video Solution



https://dl.doubtnut.com/l/_Oe2P79k44Pjf
https://dl.doubtnut.com/l/_u3jV0qtguULP

22. The predecessor of 1 million is 9999

99999 (c) 999999 (d) 1000001

° Watch Video Solution

23. The successor of 1 million is 10001

100001 (c) 1000001 (d) 10000001

(b)

o Watch Video Solution



https://dl.doubtnut.com/l/_BgklNHz6oJQh
https://dl.doubtnut.com/l/_uMRwqK0LRWsY

24. The product of the successor and
predecessor of 99 is 9800  (b) 9900 (c)

1099 (d) 9700

o Watch Video Solution

25. The product of a whole number (other
than zero) and its successor is an even
number (b) an odd number divisible by

4 (d) divisible by 3

° Watch Video Solution



https://dl.doubtnut.com/l/_zohmZrPMpOYJ
https://dl.doubtnut.com/l/_ysrCHLmsaUNS

26. The product of the predecessor and
successor of an odd natural number is always

divisible by 2 (b) 4 (c) 6 (d) 8

o Watch Video Solution

27. The product of the predecessor and
successor of an even natural number is:
divisible by 2 (b) divisibly by 3 (c)

divisible by 4 (d) an odd number

o Watch Video Solution



https://dl.doubtnut.com/l/_ysrCHLmsaUNS
https://dl.doubtnut.com/l/_20NMoxOXCPw0
https://dl.doubtnut.com/l/_Y2gU7g6gjV8L

28. The successor of the smallest prime

number is 1 (b) 2 (c) 3 (d) 4

o Watch Video Solution

29. If x and y are co-primes, then their LCM is 1

(b) % (c) 2y (d) None of these

o Watch Video Solution



https://dl.doubtnut.com/l/_Y2gU7g6gjV8L
https://dl.doubtnut.com/l/_m98IyUkZazm6
https://dl.doubtnut.com/l/_2IZ1sfdKHN95

30. The HCF of two co-primes is (a) the smaller
number (b) the larger number (c) product of

the number (d) 1

o Watch Video Solution

31. The smallest number which is neither prime
no composite is O (b) 1 (c) 2 (d)

3

o Watch Video Solution



https://dl.doubtnut.com/l/_D195wv5lJ45T
https://dl.doubtnut.com/l/_suP3vuactsd0
https://dl.doubtnut.com/l/_p72Sna7pqLYL

32. The product of any natural number and the
smallest prime is an even number (b)
an odd number a prime number (d)

None of these

° Watch Video Solution

33. Every counting number has an infinite
number of (a)factors (b) multiples

prime factors (d) none of these

° Watch Video Solution



https://dl.doubtnut.com/l/_p72Sna7pqLYL
https://dl.doubtnut.com/l/_1sCRTLNqo8Vv

34. The product of two numbers is 1530 and
their HCF is 15. the LCM of these numbers is

102 (b) 120 (c) 84 (d) 12

o Watch Video Solution

35. The least number divisible by each of the
numbers 15, 20, 24 and 32 is 960 (b)

480 (c) 360 (d) 640

o Watch Video Solution



https://dl.doubtnut.com/l/_TrW7522ydYaQ
https://dl.doubtnut.com/l/_GhvWFAbSUFyl
https://dl.doubtnut.com/l/_FMJcxB0PQn3U

36. The greatest number which divides 134 and
167 leaving 2 as remainder in each case is

14 (b) 19 (c) 33 (d) 17

o Watch Video Solution

37. Which of the following numbers is prime

number? 91 (b) 81 (c) 87 (d) 97

° Watch Video Solution



https://dl.doubtnut.com/l/_FMJcxB0PQn3U
https://dl.doubtnut.com/l/_MsEnJsh6MdSM

38. If two numbers are equal, then (a)their LCM
is equal to their HCF ( b)their LCM is less than
their HCF (c)their LCM is equal to two times

their HCF (d)None of these

o Watch Video Solution

39. a and b are two co-primes. Which of the
following is/are true? LCM (a, b) = a x b (b)
HCF (a, b) = 1 Both (a)and (b) (d) Neither

(a) n or (b)

| & I


https://dl.doubtnut.com/l/_1ngPwn3RMAfo
https://dl.doubtnut.com/l/_WM7Oa2vx1HSK

| ¥ Watch Video Solution



https://dl.doubtnut.com/l/_WM7Oa2vx1HSK

